[ Efficiency vs vertpos |
- 0.2

CTIRT: SR S— _— + ------------

2 E : : :
>~016:_% """" cr

(8]
{0 | STCTEIIE R

[ o

5 042F e % ----- R
(0 )| SRR R T PR EEPEREE T H A
: ' %%%+

0.08] i Al RPPPP

0.06F theoeop]ee-e- ------------- ------------

0.04 ; ;
0.02H |} S SRITRITRTR e

1.0

o
T § 1
o %l [ T4
1 TR
T4
L : gus

0.95
1072 107 1

10 0?
TP vertr (cr%)

MKEIL_TT1originar
mkFit_ TTNEW50

DOM

DOM -
— DOM_mKFit_TTNEW50-chi2
Efficiend = 5SM mkFit TTNEW50-dpda

~n 0.2 - T T T
R S s S S S
2] _ . . . . .
Z0.16------ S RAELSREREEES R i P
> E 1 : : :

& C : : : : :
T ;"&"1 """" A
(8] » . . . .
EQL2 iyt e
o : : : :

O AR SREEE TR SR
T & S #%-*

X {al+ :

0.04F-1-H¥ -
0.02

Ratio

o |

-t ENLE i i i
9™p 20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> : : : : : : :
R B RRE SUETTLIEIRE SR T
S o : : : : : :
7R Al 1 S A S
£0.14F
& o
€ 0.12F
0.1
0.08F
0.06F
0.04F
0.02F

1.0

efticie

Ratio

1

B

0®5=15 10 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


